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GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering Sem. — I*' - Examination — June/July- 2011
Subject code:310008

Subject Name: Business Mathematics
Date:14/07/2011 Time: 02:30 pm — 05:00 pm
Total Marks: 70

Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.

3. Figures to the right indicate full marks.

4. English version is Authentic

Q.1 (@) Find the value of n. 07
(1) If nP3=210 (ii) 6P,= 120
(b)  Find the values: 07
(1) 12C4 (11) 25 C23 (111) ng (lV) 11 C7 (V) 40C 38(Vi) 7C7 (Vll)
8 Co
Q.2

(@) Amit pays Rs.200 at the end of every month towards his provident 07
fund A/c from his salary. If the rate of compound Interest is 12%.

Find out the total amount credited in his provident fund A/c at the
end of 30 years.

(b)  The chairman of Higher Secondary Education Board wishes to 07
award a gold medal to a student scoring highest marks in Business
mathematics at Std.XII Examination every year. If this medal costs
Rs.1200 every year and the rate of compound interests is 15% .what
amount he is required to deposit in order to get the fund every year.

OR
(b)  What is meant by Annuity .State different types of Annuity. 07
Q.3
(@) Anudiscounts a bill of Rs.10,400 for 4 months at 12%.Find out 07
banker’s discount ,true discount and bankers gain.
(b)  Explain banker’s discount , true discount, and banker’s gain. 07
OR
Q.3 (@)  Write the difference between Trade discount and cash discount. 07
(b) Dilip received Rs.13,200 after selling certain goods at 10% trade 07
discount and 2%cash discount. Find out catalogue price of goods ,
Trade discount and cash discount.
Q.4
(@)  Write the rules of limit. 07
(b)  If f(x) =2x>-2x+3 find the values of f(1), f(0), f(3),and f(-2). 07
OR
Q.4 (@) Inan arithmetic series T3=18, T¢=486 . Find the value of Ts. 07
(b)  Where a=162, d=8, T,=354, find the value of n. 07
Q.5
(@) Draw a graph of linear inequalities 2x+y >4 and x-y >5. 07
(b) Draw a graph of linear inequalities 2x+3y >6. 07
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Write the uses of linear programming.

By how many ways a cricket team of 11 players can be selected
including 4 ballers and 1 wicket keeper out of 15 players including 5
ballers and 2 wicket keepers.
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